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55, If the line 2x + Sy = 12 intersects the ellipse 4x® + 5y* = 20 in two distinct points A and
B, then the mid point of AB is

56¢ T 2+ 5y =12 Bgsygo 4x7 + 5y’ =200 Dods DB Dodeien A, Bo &4
podhr ol wdyd AB Sagdg Dokl

(1) (0, 1} (2} (1, 2) (3) (1,0 @) 2. 1)

S — m—

56. Equation of one of the tangents 'pﬂssing through (2, 8) to the hyperbola 5x* - y' =5 is

wd dosedho Sxi-y =536 (2,8) orgor &0k a8 B8 08 dasdwo

=h
(1) 3Ix+y-14=0 ,,@-““:1,.‘ 2) 3x-y+2=0
(3) x+y+3=0 o N @) x-y+6=0

57. The arca (in square units) of the equilateral triangle formed by the tangent at (+/3,0) to the
hyperbola s — 3y* = 3 with the pair of asymptotes of the hyperbola is

ud Sododio -3 =38 (3,0) 38 B0Tw, o0 wiod Hy68pe uss
2838 Ddaariry (Bghe Frogo (SE0DH WBarg )

1
(1 J2 2) 3 %) 73 (4) 243

Rough Work
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58. The radius of the circle r =12 cos 8 + 3 sin O is
Sydo r= 12 cosB+ 5sinB a"ﬁil'gu

15 13
) 1 @ 3 3 3 2

joini i 1,-2)is 4,
59, |f x-coordinate of a peint P on the line joining the points Q(2, 2, 1) and R(5, 1 )
then the z-coordinate of P is v

: 4,
foddes Q(2.2,1),R(5,1,-4) ol 0% Bpo ed Do P Woky x-AEFDE0
wond P Do) z-AErote

2
(1) -2 2y -1 (3 1 (4)

—_

i

i le made b
60. A straight line 15 cqually inclined to all the three coordinate axes. Then an angic m ¥
the line with the y-axis is

8 H0¢Te S nérasgod B3I Feo Do aod. © 2f¢dn y-ugod
=% g*mo

2 =
In I ‘.l e — 4 .
wel)  oels) o=l @}

Rough Werk
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61. If the foot of the perpendicular from (0, 0, ) 1 a plane is (1, 2, 3), then the equation of
the plane is

(0,0,0) 3308 of Sorf ADS vow So (1,2, 3) ol wdpd o Dide

wuifdmo
(1) 2x + vy + 32 = 14 (2) x +2y + 32=14
(3) x v 2y + 32+ 14=10 (4) x4+ 2y -3z= 14

—— T e e — —
o —r

62. The equation of the sphere through the points (1, 0, 0), (0, 1, 0} and (1. 1. 1) and having
the smallest radius s

?J:L-';J;.l_']m (Lo oL L De o Er, el S8 & Trardo 585 Red
wediEdmo

(1) 3x*+y* + o). x4y -2241=0

(2} At vy + - x-Sy —zk =D

(3) ¥+ ety ytz+l=10

o

(4) x°4 ¥y + 2 - Y- hdr e =0

e ey o e —

! i

63. lim ["—"-'?J]

L %]

4

(1 o' (2) e (3) ¢ 4) e

Rough Work
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64. Let I R — R be defined by

u+sm_:¢|! £ x>0

f(x)= if x=0

Bl 5*'!1,--’51 if x<0

I L x

where [v] denotes the integral part of y. If f is continuous al X = 0, then fp —a =

[:R=+R2

, Sin_[x] (x>0 woxd)

f(x)= 2 (x =0 sond)

B+ [ = ;—x-] (x <0 sond)
| X :

e I.Jdi{.i-uﬂ‘;‘hmﬁ"‘uﬁ. (mg3d Iyl wdo y Tl Wyrgrof Ty BrOh08).
x=0 54 Fﬂ;JE}JﬁlEJﬁ whyd p-a=

(1) -1 (2) 1 (3) 0 (4 2

Rough Work
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f

-2 /4 r
65. I'[:-:}=Eugk: [1:_+E] =M=

-3
(1) % @ 4 ® 5 (4) 1

dv
66. If xy # 0, x + y # 0 and x™y" = (x + ¥)™" where m, n € N then a-‘-

’ dy _
xy 20, x+y=s0,mneN3x™ =(x+y)"" wond edypds e
y X+ ¥ X
(= @ (3) xy @ 3
1 d
1 - S, A
67, X2+ ¥yt = 1+;,:‘+:r*¥ t +t1 =X ]’d“—
1y -1 (2) 1 3y 0 4) 1
68. fix)=(x* 1) =1"x)=
{1y 0 2y 2! {3) 1! {4) 14!

Rough Work
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Ihe coordinates of the point P on the curve x = a(@ + sin B), ¥ = a(l - cos @) where the

m
tangent is inclined at an angle 1 to the x-axis, are

S(go x = a(@ + sin 8), y = a(l —cos 0) > uE Doded) P 3¢ AR x-u5od

3% f'mo % wond wbHypd P Aroso
[
ey o ({5))

3 [ﬁd] @) (@9

70. If A is the area of the triangle formed by the positive x-axis and the normal and tangent 1o
the circle x* + ¥* = 4at (1,4/3), then A =
Sydo x* y=48 (1,43)38 swDoonBp, P30 Tpee &5 x-wgod D80T
[Beha Frego A wond whypds 4=
V3
0 & @ 3 3 243 (4) 6
Rough Work
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71. If the volume of a sphere increases at the rate of 2n cm’/sec, then the rate of increase of
its radius (in cm/sec),when the volume is 288n cm’ is
a¥ A'9Y Do B0Sred S)0 U HENH In o ek, vond o ol S8Erme
288n $o. 0.2, adyDpdo msﬂ-g'{ﬁ ﬂ;gﬂbﬁ (%% Tododh,
| 1 1 |
M 35 2) 3 3 13 @ 3
2
72. If u = f{r), where ©* = x? + y* then f’_’; 1 ‘3--‘;14
al &
’ 2*u  2'u
= f(r)s* o = x* + d shypd (5t |=
u = fir} X4y wond sby [ﬂx"‘ Eﬁ"J
(1) £(r) (2) £°(r) + 1(r)
1
(@) '@+ 2 ) (@) [7(r) + rl(r)
I__ dx a
L RN FPRT
) =
(n %\'“HIH—' @ - 4+x' +c
(3) ;_]: ﬁ+;..£+r: (4 j‘?;""“"_:"‘:
Rough Work
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24, !-ﬁuuzxcnm‘xdx:—%mt:x+ ktanx—2¢cotx+¢ = k =

(4 (2) 3 3 2 4) 1
!_ dx =
LI Y
{11 2sin "Jx +¢ (2) 2 sin Ix + ¢ (3) 2x sin'x + ¢ (4) sin”' VX +¢

hi
(2) n 3) ET @) ax

77. ‘The arca (in square units) bounded by the curves y* = 4x and x* = dy is

S|sres y? = dx, x* = dyod wlwud (&84 Baogo (S80I alardad)

2

4 6 8 2

M 3 @ 3 3 3 @ 3
Rough Work
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2 obtained by using Trapezoidal rule with h = | is

1+x°

4
The value of the integral j
0

d

h=18 sdeon ﬁmﬁbﬂﬂ :’:-J'melfbﬁrﬂuﬂ marfado -[I 11 e
+ X

63 p 108 13
79. ;ﬂ+1;mn[::-y}=l::rain{x—y]=
X
2 2 o
(1) Ae™ (2) Ae™ (3) Ac* (4) Ac?

50.

(Here A is a constant) (25,8 A &% !;‘u:i wowg)

An integrating factor of the differential equation

4 3
1-x) 3 4y =X [“""2] is

dx (1+x)

wifod PDEdmo

Sy %
(1 x}dx+u}' )

SR |
[wﬁ—xz] g o8 DErfod MHofo

2 -
X = '
! P 3 :
WD ox @) fi—x R A -y
4 A EL
%N
Rough Work (v . ot
: 2 3 i L : -i!r
N 1.."- Fg ndy -  oEF %
] ..o Y I.-_.- " itz ' TR ;3f+- o r.u.li
' ; LT 1‘"—': . ':_' ) I'l:" - -"":--:;",_ﬂ_ {I:-.-l-.- 1 I;':E-i
L VLAY s .
f,..rt -{ I-.":':"‘5--;."-'; : -_.--*‘ I £0 *}1*
N re \ 23 Xl
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PHYSICS

1. The length of a pendulum is measured as 1.01 m and time for 30 oscillations is measured

as one minute 3 seconds. Error in length is 0.01 m and error in time is 3 secs. The
percentage error in the measurement of acceleration due 1o gravity is

of Sufo dH 1.0l mmss, 30 Seroh b 5oy | Dsho 3 REloamd
Fosndsd Ponet ass 0.0l m sodnd® Sade 3. wond sy sefode
Besiabe® &% mddo :

i1y 1 (2) 5 {3) 10 4) 15

8.

Sum of magnitudes of two forces acting al a point is 16 N. If their resultant is normal to

- smaller force, and has a magnitude 8 N, then the forces are

of Dol 3¢ 0Py Vodd podue DOSrEo Fwdsn 16 N. 308ww0
05y voo B4% voworr B Tiged Sbdw o s65rmo BN wond o
(1) 6 N, 10N (2) 8N, 8N (3) 4N, 12N (4) 2N, 14N

It is possible to project a particle with a given velocity in two possible ways so as to make
them pass through a point P at a horizontal distance r from the point of projection. If t; and
L, are times taken 1o reach this point in two possible ways, then the product t, t, is
proportional 10 :

@35 Dodsd Heod F8z Dirodddam ‘t' drdodt Ao wf Doy P age
gsen uf fndod Fod FASsns Tod dFsweam [HE DoSSdayd. Dodaipds
Hee Tod Dddwod® bip soduw i So8dsw 1, wond ogde '1# eda S S

SrdSns' 4odedd

1 A 1
(1 g (2) r (3) r (4 Ff

Rough Work

i s = |_'J \
L M,Ji_ﬂ il h“ i
‘-:r (r._._-| ‘.{"‘-'I"I ]I AL

Pty
i 4 1
. TI__{I

[ P 29 Q

www.sakshieducation.com



B4.

www.sakshieducation.com

A

The veloeity v’ reached by a car of mass ‘m’ at certain distance from the starting point
driven with constant power “P" is such that

Pd a-mga.wa‘ sdobudd ‘m' |ESgord do gy Baodd S08 Fod Srfodst
wodDE Fde v wond
3P 1 3P 35, 3P (3P
i ol 1 e— 3 r et ' e
() ve — @ ve— (3 Ve mem]

| — m——

85.

— — e —— i,

-_—— x = - — e — L —

In Atwood's machine, two masses 3 kg and 5 kg are connected by a light string which
passes over a frictionless pulley. The support of the pulley is attached o the ceiling of a
compartment of a train. 1f' the train moves in a horizontal direction with a constani aceeleration

& ms 2, the tension in the string in Newtons is (g = 10 ms %)

wSHh do|dsns® Tods 3 kg 0w 3 kg |Sdgohon of 4088 edo
Hirdohdnd® Y, o orded dedl of by oy ghy worol) wl
Bos wod Ih 0 pH DAoTds. » B wod fd= Ddroddom K ms? S
dgémbns BoSrdvned ordad'd 54, Srgosd’ (g= 10ms %)

(1) 3.75 2) 7.5 (@) 15 (4) 20

86. A ball ‘A’ of mass ‘m’ moving along positive x-direction with kinetic energy "K' and

momentum P undergoes elastic head on collision with a stationary ball B of mass *M". After

K
collision the ball A moves along negative X-direction with kinetic energy e Final momentum
of B is

‘m' @5gom%, 'K’ A8e 48 0o P Gagdasn €005 ‘A wod gordyt
x-84¢* [Dalrdir, Dol RISt ady, ‘M Lﬁb::.:.an-a fo ‘B' wodd" Aol
wDardo Dolis. whhrddn dogd A wod Moz $48" maord)s X-adst
$8058. whjrde Sogd, B wod S0 (Ssgddse

4p
in p (2) 3 (3) £ (4) 4P

Rough Work
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{A) The position of centre of mass of a system is dependent on the choice of co-ordinate
sysiem.

87. Choose the correct statement

{B) MNewton's second law of metion is applicable 1o the cenire of mass of the system.
{C) When no external force acts on a body, the acceleration of centre of mass is zero.
(D) Internal forces can change the state of centre of mass.

(1) Both (A) and (B) are correct {2) Both (B) ﬁnl:l (C) are wrong

{3) Both (A) and (C) are wrong (4) Both (A) and (D)) are wrong

REN arggdady JaeyEiiede

(A) ef 5353 (GBg070 Toid Fidw JodS) 2rde SgEeD wersdds.
(B) 3rgof Dodd Al Hr@dn |Sogoed Tod Sg306 8o,

(C) erdrg woves SMHH 0D Jabdpds [Sdgor? Sof didmdn drdgEe.

(D) woddd weoro Ld::gu'-? Taid TgEr'J L‘na‘ﬁa.j;ﬁ.:.

(1) (A) SH0cin (B) Dodr RO (2) (B) &:8aix (C) Bodr S0y

(3) (A)S:8cin (C) Todr Sy (4) (A) 5080 (D) Todr sy

88. When the engine is switched off a vehicle of mass ‘M is moving on a rough horizontal road
with momentum P. If the coefficient of friction between the road and tyres of the vehicle
i5 p,, the distance travelled by the vehicle before it comes to rest is
momd wLdBiHd, of Add L8z Ldroddy SP ‘M |digod do wf
ForHdn P (Gdy FAsns S00SS50. 8dh Hodn il B Sudg
Dofe Mmddn p wond whdHesH dnod owrdde G80d drddw

F! II-'._M!H. z FEM.I

— 4 4] —

Y 2) 75 ) Zue M s
Rough Work
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89. Assertion (A) : The moment of inertia of a steel sphere is larger than the moment of
inertia of a wooden sphere of same radius.
Reason (R) : Moment of inertia is independent of mass of the body.

The correct one is

(1) Both {A) and (R) are true, and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true. but (R) is not the correct explanation of (A)

{3} (A) is true but (R) is wrong

{4) (A) is wrong but (R) is true

Q83850 (A) @ of !."."""‘ AU S0 g, auddy (PrSiEse wod Fgrdin fde
DY edn mddy rdfde oy 83,

imsn (R) @ wddp (grdofdn Sy (S350l ugrdddd.

a8 HOTHLHO

(1) (A) 208 (R) 20503, (R) wieid (A) TwE) J0T0H Jddw

(2) (A) S20c8x (R) HOTSD, N (R) @58 (A) Ty DTS Dide 5

(3) (A) 200050 S:0ciw (R) ﬁﬁ':p

(4) (A) by S:0cs (R) HOTDHE

90. Two solid spheres A and B each of radius ‘R’ are made of materials of densities p, and p,
respectively. Their moments of inertia about a diameter are I, and L, respectively. The value

of ln i5
L 58 R ogdrdin do Bods od flvreos A Sc8cie B Sdahm p, Sobolxm

Py Tolfdes fo dogrod' Jdhaddd. ogdo ddom T2 mddy prdsw

|
sGnm 1, Sbain I, wons, l—* Densd
B

F"n Pr Pa B
VI 2 1|_ 3 4) -
( P () Pa (3) Pa (4) Pa

Rough Work
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The gravitational field in a region is given by equation E =(5i +12j) Nkg . If a particle of
mas. 2 kg is moved from the origin to the point (12 m, 5 m) in this region, the change in
gravitational potential energy is

E=(5i+12j) Nkg &3 Sdedec orger af (BBH0d) Hbegide §(Bo asgussn.

2kg (B3500% do of Sndad Sro Dodsd Hod (12m, 5 m) DododSes
S80003T Mddy PBYS 14t Srday

(1} =225 (2) —240 ) (3) -245) (4) =2501

92,

931

The time period of a particle in simple harmonic motion is 8s. At | = 0. it is at the mean
position. The ratio of the distances travelled by it in the first and second seconds is

ROE drod s ﬁu:&nﬁ‘;ﬁa}ﬁl LE fmo Tnf) Serddd sodn Bst=0 S
vl Sidgds FrEod® Hobd. sb Twdd Hbdn Bods BESed Pdreo
dhs droe SR

| 1 | |
M 3 ® 7 OFT OF

A tension of 22 N is applied to a copper wire of cross-sectional area 0.02 cm? Young's
modulus of copper is 1.1 x 10" N/m? and Poisson's ratio 0.32. The decrease in cross
sectional area will be

0.02 cm’ wgs £'8 Jrogso do o¥ on BAL 22N 83385 (DWrAoT . oh
Sy dholi Mese L1 10" Nim? 30050 dowaS 2033 032, vdh 58
Frogodtd dMde

(1) 1.28 = 107% em? (2) 1.6 = 10°% cm?
(3) 2.56 = 10°% ¢m? (4) 0.64 = 107 em?

Rough Work
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94. Drops of hquid of density *d’ are floating half immersed in a liquid of density p. IF the
surface tension of the liquid is T, then the radius of the drop is

I rodd Ao (B85 Dodbipes p Frods Ao (BddnSos HABM S0In Feodad D,
[E8 dodlicd T wond o Dol TgId S

(1 [—Er“ - 4 r_-_ﬂ: 5 3T . 2 _:31_
P Vesd-n @ Yeaaom @ Gaap @ gEiom

—_————— —— ——— ey x =

95. A pipe having an internal diameter ‘D is connected to another pipe of same size. Water
flows into the second pipe through ‘n’ holes, each of diameter *d". If the water in the first
pipe has speed ‘v', the speed of water leaving the second pipe is
D' wodd argho EONS wf Fein, oW B08recko $:6'¢ Fydd fovndiso.
w858 0 argdo de 'n’ dogsne ogor Bodd Muodtni Hé B,
Budd Fednd®d J6 v 58 £OANS) Tods MerDy Sad Ha 24

'“:]' !-_.:_:1' ‘}j T'I‘Ez_\' (3} Ed_l_"r' I‘U dz X
nd- A D? nD’?

96. When a liquid is heated in copper vessel its coefficient of apparent expansion is 6 * 10°°°C.
When the same liquid is heated in a steel vessel its coefficient of apparent expansion is
24 = 107%°C. If coeflicient of lincar expansion for copper is 18 * 10°%°C, the coefficient
of lincar expansion for steel is

wf oh S a8 G0y J8 FnIPdo, oD Sydg 35S Mwedwo 6 10 4C
ol |gamd) bes PSSt FA Apspd oon dyfgars*sS mEdn 24 < 109°C. on
Bgs o8 Mofden 18 % 10°9°C vond Yoo BYg ops's Mmetis

(1) 20 = 10°%~C (2) 24 < 10°%°C (3) 36 x10°%C (4) 12 = 10%mC

Rough Work
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97, When the temperature of a body increases from T to T + AT, its moment of inertia increases
from | to 1 + AL If @ is the coellicient of linear expansion of the material of the body, then

Al

T is {meglect higher orders of o)

w8 STy Tlof) afiddds T 08 (T+ADS DolIdWydy, orn uddy @rasio
I %208 (1+ AL 20Nel. S7Y wordo TWwE, Bg: 5:'55"13 Mmidne o wond

Al
= Jeod (o Tl whY Sreod 580 Fasusn)

AT 2o
- 4) —

(1) w AT (2} 2a AT (3) 2 A

-

S

98. A sound wave passing through an ideal gas at NTP produces a pressure change of
0.001 dvne/em?® during adiabatic compression. The corresponding change in temperature
(¥ = 1.5 for the gas and atmospheric pressure is 1.013 = 10% dynes/em’) is

NTP $& 2§ edd)srduog oo $30 $doffo PiYPdo o RS 6R s hobdsdns
0.001 dynelem® L8 308" S;dsyie fenfB@DA0. ol sdbnomr e AES” Srdy
(r@Boaiag y= 1.5 d0cn asrddn DadSSe = 1013 = Iﬂﬁ'd}"m:ﬁr'im!}

(1) 897~ 10° K (2) 897 = 10°K

(3) 897 = 105 K ' (4) 897 x 10° K

o

99, Work done to increase the temperature of one mole of an ideal gas by 30°C, if i is
expanding under the condition V « T*? is, (R = 8.314 Vmole"K)

Va T duogssh o8 ogffdngs) af 3rd wdd) adn afiis 30°C
wodied Tdidehd 32 (R = 8314 Vmole™K)

(1 11621 (2) 136.2) (3) 166.2 ] (4) 1862

Rough Work
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100. Power radiated by a black body at temperature T, is P and it radiates maximum energy at
a wavelength 4. If the temperature of the black body is changed from T, to T,, it radiates

A
maximum energy at a wavelength _IL The power radiated at T, is

T, agfid &4 af SHg Sms J80m e gan P dudde wd Ay Bdof Bd sl
S¢ H0% 439 DESwo Fiwed. w )T Skl Tk PSS T, $08 T8
Sr0 I RE vb %l dfofBdgo &¢ AL 480 D8dmo %08 T, 5 DEdme
Cohwda g go

(1) 2P (2) 4P (3) 8P @) 16 P

aman = — —

- =

101. A uniform rope of mass 0.1 kg and length 2.45 m hangs from a rigid support. The time
taken by the transverse wave formed in the rope to travel through the full length of the rope
is (Assume g = 9.8 m/s®)

0.1 kg |£5g0°8 S:0a8n 245 D raddy SORAS of 08 ol uE §3d wolo
$08 |JerdbdchudHod. W8S 89zE dsdofio ed g FEH Joad
Lﬁ{.ﬁ?r!-a:-ﬁrrn!-'. :-:Enf oo, (=938 i}af‘.;:l}

(1) 0.5s 2} 1.6s (3) 1.2 i4) 1.0s

102. When a vibrating wning fork is placed on a sound box of a sonometer, 8 beats per second
are heard when the length of the sonometer wire is kept at 101 ¢m or 100 ¢m. Then the
frequency of the tuning fork is (consider that the tension in the wire is kept constant)
o€ S Dabds TE) BT Hud fobind) 1880a ) sodiPds, o Lol 84
3 10l cm o 100cm sodddpid, 8 Adjodares |28 Wil D884 4 8dodo
gy Sdipsgo (BAS d5g8 Hdomr dodigmr 8%:8%048)

(1) 1616 Hz (2) 1608 Hz (3) 1632 Hz (4) 1600 Hz

Rough Work
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103. The objective and evepiece of an astronomical telescope are double convex lenses with
refractive index 1.5. When the telescope is adjusted to infinity, the separation between the
two lenses is 16 cm. If the space between the lenses is now filled with water and again
telescope is adjusted for infinity, then the present separation between the lenses is

o phA'Y SrddDyd Tof) Sn¥efo, sfifoso 1.5 SAE5S Mo XOAYS
Loyrsd Loson Srddogn wiod droRl Boldg0o0d5pds Sbsmo Sidy
drdo 16cm. Ebsre Sy Mt Do Boby vilosrll pi'Y Srdds N0 SoAEB0DES pd,
fose S:g [wRed drdo

(1) 8cm (2) 16 em (3) 24 cm (4) 32 cm

104, The dispersive powers of the materials of two lenses forming an achromatic combination
are in the ratio of 4 : 3. Effective focal length of the two lenses is + 60 cm then the focal
lengths of the lenses should be

DEDE FEagrgea 413 R8st deo 'J}E'g'uﬁ‘ daird:dhd Tod desu Jod
wiHgs ddwd)so WL AY-E1-8 o fbse HoWrd (Pyrdardgoddo +60cm wond
o' fbsro FPgodore Il

{1y =20 em, 25 cm (2) 20 cm, — 25 cm
(3) — 15 em, 20 cm (4) 15¢cm, - 20 cm
Rough Work
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105. Two coherent point sources S, and 5, vibraling in phase emit light of wavelength A. The
separation between them is 2 & as shown in figure. The first bright fringe is formed at *P* due
to interference on a screen placed al a distance *I) from 5, (D >= 4), then OP is
Tods Downd Dod mdsor 5,5, 8 44" )\ Sdod Fggo fu 5ol Howw
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106. A short bar magnet in a vibrating magnetometer makes 16 oscillations in 4 seconds. Another
short magnet with same length and width having moment of inertia 1-5 times the first one
is placed over the first magnet and oscillated, Neglecting the induced magnetization, the
time period of the combination is
L 2003 edhdyod Srdfodt, uf OJ) Soordhdodo 4 wESG 16
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107. A magnetic needle lying parallel to a magnetic field is turned through 60°. The work done
on it i3 w. The torque required to maintain the magnetic needle in the position mentioned

above 15
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108, A parallel plate capacitor has a capacity 80 = 107 F when air is present between the plates,
The volume between the plates is then completely filled with a dielectric slab of dielectric
constant 20. The capacitor is now connected to a battery of 30 V by wires. The dielectric

slab is then removed. Then, the charge that passes now through the wire i3

&% midrodd Dofe 3rheld Solo -5.11;3 T adyayde 80 = 10°F sa%hd
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(1) 456 x 1073 C (2) 253=107C
(3 120 =10 ¢C (4) 12 =103 C
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